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Answers

1. B

2. B

3. A

4. A

5. C

6. B

7. B

8. C

9. C

10. C

11. A

12. A

13. C

14. B

15. A

Solve each problem.

1) Which choice is a
multiple of 2?

A. 41

B. 22

C. 35

D. 39

2) Which choice is a
multiple of 10?

A. 145

B. 120

C. 131

D. 154

3) Which choice is a
multiple of 6?

A. 90

B. 104

C. 113

D. 117

4) Which choice is a
multiple of 3?

A. 51

B. 62

C. 53

D. 43

5) Which choice is a
multiple of 9?

A. 129

B. 169

C. 144

D. 147

6) Which choice is a
multiple of 10?

A. 114

B. 170

C. 128

D. 167

7) Which choice is a
multiple of 2?

A. 41

B. 28

C. 23

D. 25

8) Which choice is a
multiple of 10?

A. 184

B. 203

C. 190

D. 122

9) Which choice is a
multiple of 5?

A. 101

B. 83

C. 90

D. 92

10) Which choice is a
multiple of 9?

A. 154

B. 167

C. 162

D. 121

11) Which choice is a
multiple of 3?

A. 42

B. 56

C. 49

D. 35

12) Which choice is a
multiple of 3?

A. 51

B. 44

C. 50

D. 61

13) Which choice is a
multiple of 5?

A. 91

B. 102

C. 90

D. 62

14) Which choice is a
multiple of 9?

A. 131

B. 144

C. 128

D. 119

15) Which choice is a
multiple of 5?

A. 80

B. 79

C. 84

D. 92
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